Repetisjon veke 37

Uavhengigheit

Forventing

E[X]=

E[g(X)]:<

E[g(X,Y)]=1

(> xf(x), X diskret
Ixf (x)dx, X kont
(> g(x)f(x), X diskret

LT g(x) f (x)dx, X kont

(S g(6 ) f (%), (X,Y) diskret

o0 00

LI fg(x, y) T (x,y)dxdy, (X,Y) kont

E{iznllaixi}:i:aiE[Xi]

E[X|Y =y]=

(> xf(x]y), X diskret

< o0
IXf (x]y)dx, X kont

\_ —0




Varians

(Z(X_/JX)Z f(x), X diskret
Var[x]=E[(X—ﬂx)2]=<

j(x—yx)z f (x)dx, X kont

Standardavvik

o= Var[X]

Kovarians
o =Cov(X.Y) =E[(X a1 )(Y ~ 4,)]=E[9(X.Y)]
Oy = E[XY]—E[X]E[Y]

X,Y vavh = o, =0

Korrelasjonskoeffisienten

Pxy =" '1pr,v <1
GXGY

Reknereglar for varians
Var[aX +b]=a’Var[x]

Var[aX +bY]|=a’cy +2abo,, +b’cy



